YnoTtpebneHne moganbHbIX rNarosion
can, must, may B 3Ha4eHU
npegnonoXeHnsa, COMHEHUA, YAOUBIEHUS C
NMHOOUHUTUBOM.
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Can + Infinitive (ynoTpebnsetca 6e3 4actuubl
”tO”)

e B oTpuuartenbHbIX U BONPOCUTENBbHbLIX
npeanoXeHnax ynotpebnsaerca ans BblpaXeHus
yOUBNEHNA, COMHEHMUS.

* B oTpuuaTtenbHbIX npeunox(eHMﬂx nepeBoanTCS
Kak He Mo)kem 6blmb 4moobbi;

« B BonpocuTtenbHbIX NpearioKeHnsix
NnepeBoauUTCS Kak HeyKesiu, pa3ee.




Forms of Infinitives

e Can+V - (Simple Infinitive) — HacTosALlEee nUnu
byayliee Bpems.

* Can+be+Vs(-ing) — (Progressive Infinitive) —
HacTosLlee BpeMs.

e Can+have+Vs(-ed) — (Perfect Infinitive) —
npoLleallee Bpemsi.




Cannot+V - (Simple Infinitive) —
oTpuLaTENbHOE NPEaASIoXKeHne

* He can’t go to school. — He moxxem bbimb, 4mo OH
xooum e wkony. (Ceu4ac oucmaHUuUuoOHHoe
obyuyeHue)




Can+S+V+...? - (Simple Infinitive) —
BOMPOCUTENbHOE NPEeaNOXEHNE

* Can we go to school in may? — Heyxernu mbli
roudem 8 WkKorsy 8 mae?




Can’t+be+Vs(-ing) — (Progressive Infinitive) -
oTpuuartenbHoe npeanoXxeHue.

* She can’t be going for a walk now. - He moxxem
bbImb, 4YMO OHa celYac 2yrisiem Ha yrnuue.




Can+S+be+Vs4(-ing)+...? — (Progressive Infinitive)
- BOMpoCcHnTeEsibHoOeE npearnoxeHune.

e Can she be going for a walk now? The weather is too

bad. — Heyxenu oHa ceu4ac ayrndem Ha ynuue?
[lo2o0a criuwkom ririoxas.

Q




Can’t+have+Vs(-ed) — (Perfect Infinitive) -
oTpuuartenbHoe npeafoXxeHue.

* He can’t have gone to school already. — He Mmoxxem
bbImb, YmMobbI OH rpuLwes 8 WKOJy yXe.




Can+S+have+Vs(-ed)+...? — (Perfect Infinitive) —
BOMPOCUTESIbHOE NMpeaJyioxXeHne.

* Can she have gone to school yet? — Heyxernu oHa
yXKe ripuwiria 8 wKorsny?




Must + Infinitive (ynoTpebnserca 6e3 4Yactuubl
”tO”)

* B yTBEPOUTESBHbIX MPEANOXKEHNSAX
ynoTpeobnsaeTcsa Ans BblpaXXeHust
npegnonoXeHusa, KOTopoe roBopPSALLUN CHUTAET
npaBaonogoOHbIM.

* [lepeBoanTCS Kak OOJIKHO 6bIMb;
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Forms of Infinitives

* Must+V - (Simple Infinitive) — HacTodLLee BpemMs.
 Must+be+Va(-ing) — (Progressive Infinitive) — B
MOMEHT BPEMEHMW.

 Must+have+Vs(-ed) — (Perfect Infinitive) —
npoLueallee Bpemsi.




Must+V - (Simple Infinitive) — HacTogdLlee BpeM4.

* The head of our school must go to school
constantly. — [JormkHo 6b1mb, Haw OUupeKkmop
MOCMOSIHHO XO0UMm 8 WKOry.
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Must+be+Vs(-ing) — (Progressive Infinitive) —
B Jl@aHHbI MOMEHT BPEMEHM.

* - Where is Dan? - He must be going for a walk now.
—Is he crazy? - - 0e [eH? — [JormkHO bbimb, OH
ceu4ac eyngem Ha ynuue. — OH, Ymo, ¢ yma
cowersn?

Q




Must+have+Vs(-ed) — (Perfect Infinitive) —
npoLuejLlee BpeMs.

 Something has wrong at school. - Anatoliy
Yevdokimovich must have gone there. Everything
will be all right. — B WWKone 4To-TO CNy4ynnocs. —
[onxHo ObITb, AHaTONMN EBOOKMMOBUY yXXKe
npuwen. Bce byaet B nopsiake.




May + Infinitive (ynoTpebnsaercsa 6e3 yactumubl
IltOH)

* B yTBEpOAUTENBLHLIX U OTPULLIATENBbHbIX
npeanoXeHnax ynotpebnsaerca ans BblpaXeHus
NpennonoXeHns, B KOTOPbIX FOBOPALLNN HE
YBEPEH.

 [MepeBoguTCs Kak MoOXKem 6bImb, B03MOXHO;




Forms of Infinitives

* may+V - (Simple Infinitive) — HacTodALLlee wu
byayliee Bpems.

 may+be+Vi(-ing) — (Progressive Infinitive) — B
OAHHbIN MOMEHT BPEMEHMW.

* may+have+Vs(-ed) — (Perfect Infinitive) —
npoLleallee Bpemsi.




may+V - (Simple Infinitive) — HacTodALlEee
BPEMS.

* We may go to school in may. — Bo3aMOXHO, B Mae
Mbl MOVOEM B LLKOJY.




may+be+Va(-ing) — (Progressive Infinitive) — B
MOMEHT BPEMEHW.

* She may be working now. — MoxeT bbITb, OHa
cenvac paboraer.




may+have+Vs(-ed) — (Perfect Infinitive) —
npolieaLiee BpeMs.

 He may have gone out of our school yet. —
B0O3MOXHO, OH YyXe BbILLEenN U3 LWKOnbI.




MV — MoganbHbIX rNarorsi

e MV+V - (Simple Infinitive) — HacTodALLEee Unu
byayliee Bpems.

 MV+be+Va(-ing) — (Progressive Infinitive) —
HacTosLlee BpeMs.

 MV+have+Vs(-ed) — (Perfect Infinitive) —
npoLleallee Bpemsi.




Ex. 1 p.192

* |. a) She must come late today.
b) She must have come late today.
1. J[omkHO ObITb, OHA CErogHA ono3aaeT.
2. [HNomkHo bbITb, OHa cerogHa ono3gana.
<
answer: a)-1.; b) - 2.

MV+V - (Simple Infinitive) — HacTosiLLee unu byayuiee Bpems.
MV+be+Va(-ing) — (Progressive Infinitive) — HacTodALlee BpeMs.
MV+have+Vs(-ed) — (Perfect Infinitive) — npoLueLlee Bpems.
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* |l. a) They can’t speak German.
b) They can’t be speaking German.
c) They can’t have spoken German.

1. He MoXeT ObITb, YTO OHM MOrOBOPUIN MO-
HEMELIKM.

2. He MoXeT ObITb, YTO OHM FOBOPAT NO-HEMELKN.
3. He MOXeT ObITb, YTO OHM pa3roBapmBatoT Mo-
HEMELKW v
answer:a)-3.;b)-2.;¢c)-3

MV+V - (Simple Infinitive) — HacTosILLee unu dyayuiee
BpeEMS.

MV+be+Va(-ing) — (Progressive Infinitive) — HacTosLlee
BpeEMS.
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* |ll. a) Can Adward be having dinner?
b) Can Adward have had dinner?
1. Heyxenu OaBapa yxe noobegan?
2. Heyxenun OaBapp obepaet?

answer: a) - 2.; b) - 1.

¢
MV+V - (Simple Infinitive) — HacTosiLLee unu dyayuiee
BpeMs.
MV+be+Va(-ing) — (Progressive Infinitive) — HacTosALlee
BpeMs.

MV+have+Vs(-ed) — (Perfect Infinitive) — npoLueLlee BpemMs.
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* |V. a) Tom may find his friend in the forest.
b) Tom may be looking for his friend in the forest.
c) Tom may have found his friend in the forest.
1. MoxeT ObITb, TOM HalLEen CBOEro apyra B necy.
2. MoxeT bbITb, TOM HaMQET CBOEro gpyra B Jiecy.
3. MoxeT 6bITb, TOM ULLIET CBOEIO Apyra B Jiecy
answer: a)-2.;b)-3.;¢c) 1};

MV+V - (Simple Infinitive) — HacTosiLLee unun byayuiee
BpeMs.
MV+be+Vai(-ing) — (Progressive Infinitive) — HacTodLlee

Bpems.
MV+have+Vs(-ed) — (Perfect Infinitive) — Fif
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* The end.




